












































TORTS 
Mr. Martin 
May 11,2015 ExamiD no. ----------------------

FINAL EXAMINATION 
THIS IS A CLOSED BOOK EXAMINATION 

This is a closed book examination. Nothing other than a writing 
instrument is allowed on your person or at or near your desk. Cell phones 
must be powered off and put away. It is a disciplinary violation to have a 
cell phone on or near your person. 

Questions will be weighted in accordance with the amount of time 
suggested for each question. All questions are to be answered in one or 
more blue books, except that the multiple-choice questions are to be 
answered on the Scantron card which is distributed with this exam. 

Please write legibly in your bluebook, begin each question on a new. 
page, and leave a margin on the left-hand side of the page. 

Use only your examination identification number to identify your blue 
book or blue books, your Scantron card, and this white examination paper. 
Your exam ID number is the last six digits of your social security number 
followed by the numerals "59." Thus, if your social security number is 123-
45-6789, you exam ID number will be 45678959. If you use more than one 
blue book, identify each one ("No. 1 of 2," "No. 2 of 2," etc.), make sure 
that your exam ID number is on each one, and insert all others into the first 
blue book when you turn them in. 

In any question you may assume, if relevant and unless the question 
tells you otherwise, that events take place in a jurisdiction which has adopted 
modified comparative negligence but retains the common-law rules of joint 
and several liability, contribution, and indemnity. 

ALL BLUE BOOKS AND THIS WHITE EXAMINATION 
PAPER MUST BE RETURNED AT THE END OF THE 
EXAMINATION. LABEL ANY SCRAP BLUE BOOK WITH THE 
WORD 'SCRAP." 
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QUESTION ONE 
TWENTY MULTIPLE CHOICE QUESTIONS 

(suggested time: one hour) 

When you have determined your answer to each of the following 
questions, mark the answer with a No. 2 pencil in the appropriate block of 
the Scantron card. 

QUESTION I-1. 

A homeowner was using a six-foot stepladder to clean the furnace in 
his home. The homeowner broke his arm when he slipped and fell from the 
ladder. The furnace had no warnings or instructions on how it was to be 
cleaned. 

In a suit by the homeowner against the manufacturer of the furnace to 
recover for his injury, is the homeowner likely to prevail? 

(A) No, because the danger of falling from a ladder is obvious. 
(B) No, because the homeowner should have hired a professional to 

clean the furnace. 
(C) Yes, because the furnace did not have a ladder attached to it for 

cleaning purposes. 
(D) Yes, because the lack of warnings of instructions for how to 

clean the furnace made the furnace defective. 

QUESTION I-2. 

When a tire of a motorist's car suffered a blowout, the car rolled over 
and the motorist was badly injured. Vehicles made by the manufacturer of 
the motorist's car have been found to be negligently designed, making them 
dangerously prone to rolling over when they suffer blowouts. A truck driver 
who was driving behind the motorist when the accident occurred stopped to 
help. Rescue vehicles promptly arrived, and the truck driver walked along 
the side of the road to return to his truck. As he approached his truck, he 
was struck and injured by a speeding car. The truck driver has sued the 
manufacturer of the injured motorist's car. 

Is the truck driver likely to prevail m a suit against the car 
manufacturer? 
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(A) No, because the car manufacturer's negligence was not the 
proximate cause of the truck driver's injuries. 

(B) No, because the truck driver assumed the risk of injury when he 
undertook to help the motorist. 

(C) Yes, because it is foreseeable that injuries can result from 
rollovers. 

(D) Yes, because the car manufacturer's negligence caused the 
dangerous situation that invited the rescue by the truck driver. 

QUESTION I-3. 

A gas company built a large refining facility that conformed to zoning 
requirements on land near a landowner's property. The landowner had his 
own home and a mini-golf business on his property. 

In a nuisance action against the gas company, the landowner 
established that the refinery emitted fumes that made many people feel quite 
sick when they were outside on his property for longer than a few minutes. 
The landowner's mini-golf business had greatly declined as a consequence, 
and the value of his property had gone down markedly. 

Is the landowner likely to prevail? 

(A) No, because the landowner has offered no evidence 
demonstrating that the gas company was negligent. 

(B) No, because the refinery conforms to the zoning requirements. 
(C) Yes, because the refinery has substantially and unreasonably 

interfered with the landowner's use and enjoyment of his 
property. 

(D) Yes, because the value of the landowner's property has 
declined. 

QUESTION I-4. 

A mining company that operated a copper mine in a remote location 
kept dynamite in a storage facility at the mine. The storage facility was 
designed and operated in conformity with state-of-the-art safety standards. 
In the jurisdiction, the storage of dynamite is deemed an abnormally 
dangerous activity. 
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Dynamite that was stored in the mining company's storage facility 
and that had been manufactured by an explosives manufacturer exploded 
due to an unknown cause. The explosion injured a state employee who was 
at the mine performing a safety audit. The employee brought an action in 
strict liability against the mining company. 

What would be the mining company's best defense? 

(A) The mine was in remote location. 
(B) The mining company did not manufacture the dynamite. 
(C) The state employee assumed the risk of injury inherent in the job. 
(D) The storage facility conformed to state-of-the-art safety standards. 

QUESTION 1-5. 

A driver negligently ran into a pedestrian who was walking along a 
road. The pedestrian sustained an injury to his knee, causing it to buckle 
from time to time. Several months later, the pedestrian sustained an injury to 
his shoulder when his knee buckled, causing him to fall down a flight of 
stairs. The pedestrian then brought an action against the driver for the 
injuries to his knee and shoulder. 

In his action against the driver, for which of his injuries may the 
pedestrian recover damages? 

(A) For the injuries to his knee and shoulder, because the driver 
takes the victim as he finds him. 

(B) For the injuries to his knee and shoulder, if the jury finds that 
the pedestrian's fall down a flight of stairs was a normal 
consequence ofhis original injury. 

(C) For the injury to his knee only, because the injury to the 
pedestrian's shoulder is separable. 

(D) For the injury to his knee only, if the jury finds that the driver 
could not have foreseen that his negligent driving would cause 
the pedestrian to fall down a flight of stairs . 
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QUESTION I-6. 

A driver was traveling along a highway during an unusually heavy 
rainstorm when the roadway began to flood. To protect his car from water 
damage, the driver pulled his car up a steep, unmarked driveway abutting the 
highway that led to a homeowner's residence. The driver left his car parked 
in the driveway and walked home, intending to return when the floodwater 
had subsided. Shortly after the driver started to walk home, the homeowner 
carefully rolled the car back down his driveway and parked it on the 
highway shoulder. The floodwater continued to rise and caused damage to 
the driver's car. 

If the driver sues the homeowner to recover for damage to the car, is 
the driver likely to prevail? 

(A) Yes, because the driver was privileged to park his car on the 
homeowner's property. 

(B) Yes, because there were no "no trespassing" signs posted. 
(C) No, because the driver intentionally drove his car onto the 

homeowner's property. 
(D) No, because the homeowner was privileged to remove the car 

from his property. 

QUESTION I-7. 

A hotel employed a carefully selected independent contractor to 
rebuild its swimming pool. The hotel continued to operate while the pool 
was being rebuilt. The contract between the hotel and the contractor 
required the contractor to indemnify the hotel for any liability arising from 
the contractor's negligent acts. A guest of the hotel fell into the excavation, 
which the contractor had negligently left unguarded. 

In an action by the guest against the hotel to recover for his injuries, 
what would be the most likely income? 

(A) Liability, because the hotel had a nondelegable duty to the guest 
to keep a safe premises. 

(B) Liability, because the contract between the hotel and the 
contractor required the contractor to indemnify the hotel for any 
liability arising from the contractor's negligent acts. 
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(C) No liability, because the contractor was the actively negligent 
party. 

(D) No liability, because the hotel exercised reasonable care in 
employing the contractor. 

QUESTION I-8. 

An elderly neighbor hired a 17-year-old boy with a reputation for 
reckless driving to drive the neighbor on errands once a week. One day the 
teenager, driving the neighbor's car, took the neighbor to the grocery store. 
While the neighbor was in the store, the teenager drove out of the parking lot 
and headed for a party on the other side of town. 

While on his way to the party, the teenager negligently turned in front 
of a moving car and caused a collision. The other driver was injured in the 
collision. 

The injured driver has brought an action for damages against the 
neighbor, based on negligent entrustment, and against the teenager. 

The jury has found that the injured driver's damages were $100,000, 
that the injured driver was 10% at fault, that the teenager was 60% at fault, 
and that the neighbor was 30% at fault for entrusting his car to the teenager. 

Based on these damage and responsibility amounts, what is the 
maximum that the injured driver could recover from the neighbor? 

(A) $100,000. 
(B) $90,000. 
(C) $60,000. 
(D) $30,000. 

QUESTION I-9. 

Owner brought his television set to Repairer for repair. Repairer 
repaired, but did not deal in, television sets. Repairer sold the set to Buyer. 
Buyer believed that Repairer owned the set. 

If Owner asserts a conversion claim against Repairer and Buyer, 
Owner will prevail against 
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(A) Repairer but not Buyer, because Buyer was a good faith 
purchaser. 

(B) Both Repairer and Buyer, because each exercised dominion 
over the television set. 

(C) Buyer but not Repairer, because Repairer no longer has 
possession of the television set. 

(D) Buyer but not Repairer, because Repairer had lawful possession 
of the television set. 

QUESTION 1-10. 

Craig brought a medical malpractice suit against Howard, a board­
certified physician. At trial, Craig's entire evidence consisted of the 
following: ( 1) Craig first went to Howard because of severe abdominal pains 
and bloody diarrhea; (2) After several examinations, Howard recommended 
corrective surgery on Craig's large intestine; (3) After adequate advice from 
Howard, Craig gave informed consent to the surgery which Howard had 
recommended, and the surgery was performed; ( 4) Starting almost 
immediately after the surgery, and to the present day, Craig continues to 
have severe abdominal pains and bloody diarrhea. 

After establishing these facts, Craig rested. Howard moved for a 
directed verdict. Which of the following statements is most correct? 

(A) Howard's motion should be denied because whether Howard 
failed to exercise the standard of care of a practitioner in his 
specialty is a jury question. 

(B) Howard's motion should be denied because the facts present a 
case of res ipsa loquitur. 

(C) Howard's motion should be granted if the judge determines that 
Howard will most likely prevail at trial. 

(D) Howard's motion should be granted because Craig introduced 
insufficient evidence to support a claim of medical malpractice. 

Question 1-11. 

Paine and Duncan were playing tennis. Duncan became highly 
irritated because every time Duncan prepared to serve, Paine started talking 
loudly. Paine's loud talk distracted Duncan from his game, and Duncan 
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usually faulted on his serves. Duncan told Paine to "cut it out," but Paine 
persisted in the behavior. 

To get Paine to cease and desist, Duncan swung his tennis racquet 
toward Paine's head. Duncan intended only to frighten Paine, knowing that 
the racquet would miss Paine's head by several inches. However, Duncan 
slipped as he swung the racquet and it flew out of his hand as he lost his 
balance. The racquet flew through the air and struck Paine in the head. 

Has Paine grounds for a battery action against Duncan? 

(A) Yes, if Duncan intended to create a reasonable apprehension in 
Paine. 

(B) Yes, because the racquet struck Paine. 
(C) No, because Duncan did not intend the racquet to strike Paine. 
(D) No, but only if Duncan can prove that the owner of the tennis 

court did not maintain the court property and this caused 
Duncan to slip. 

Questions I-12 and I-13 are based on the following fact situation: 

While Driver's car was being repaired, Driver arranged to borrow a 
car from his friend Lender. Lender had an extra car which he had not used 
for some time. When Driver picked up the car, Lender forgot to warn Driver 
that the brake fluid needed to be refilled. Lender telephoned Driver's wife, 
Rider, and warned her about the brake fluid problem. Rider, however, 
forgot to tell Driver. 

Shortly thereafter Driver was driving Rider to work in the borrowed 
car at a reasonable rate of speed and within the posted speed limit. As he 
approached an intersection, another car driven by Reckless ran through the 
red light and into the intersection. Driver applied the brakes in a timely 
manner but the brakes failed and the two cars collided. If the proper amount 
of brake fluid had been in the brake system, Driver could have stopped in 
time to avoid the collision. Driver and Rider were injured. 

Question I-12. 

If the jurisdiction has not modified the common law contributory 
negligence doctrine and Driver asserts a claim against Reckless, Driver will 
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(A) Recover only a portion of his damages, because Rider was also 
at fault. 

(B) Recover the full amount of his damages, because Driver himself 
was not at fault. 

(C) Not recover, because Driver had the last clear chance to avoid 
the accident. 

(D) Not recover, because Rider was negligent in not telling Driver 
about the brakes and Rider's negligence would be imputed to 
Driver. 

Question 1-13. 

If the jurisdiction has adopted "pure" comparative negligence and 
Rider asserts a claim against Reckless, Rider will 

(A) Recover in full for her injury, because Driver who was driving 
the car in which she was riding was not himself at fault. 

(B) Recover a portion of her damages, based on the respective 
degrees of her negligence and that of Reckless. 

(C) Not recover because Driver had the last clear chance to avoid 
the accident. 

(D) Not recover because Rider was primarily at fault for the 
collision. 

Question 1-14. 

Doophous gave his sixteen-year-old son a .22 caliber target pistol for 
his birthday. The boy was permitted to keep the pistol and ammunition in 
his dresser drawer. One weekend the boy took the loaded gun out onto the 
street where Doophous lived and shot Peewee, a ten-year-old neighbor, after 
the two of them argued about sneakers. Peewee brought an action to recover 
for his personal injuries against Doophous. Who should prevail? 

(A) Peewee, because Doophous's son was old enough to form the 
mental state sufficient to commit the tort of battery. 

(B) Peewee, unless Doophous can show that he was unaware of his 
son's character trait for violence. 

(C) Doophous, unless Peewee can prove that Doophous was 
negligent in giving the pistol to his son. 
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(D) Doophous, because Doophous is not vicariously liable for an 
intentional tort committed by his son. 

Question 1-15. 

Stonewing decided to take his privately owned single propeller 
airplane up for a ride one brisk April morning. After he had been up for 
about an hour, gale force winds arose and Stonewing had trouble keeping 
control of his plane. Just as he rounded a hill he saw a huge black storm 
cloud approaching. The winds almost knocked him into the side of the hill. 
An experienced pilot, Stonewing knew that he would crash if he did not land 
soon. 

Just ahead lay Beefsteak's tomato field. Stonewing prepared for a 
rough landing and began his descent. Stonewing survived, but Beefsteak's 
tomato crop did not. Beefsteak sues Stonewing for damages. He will most 
likely collect: 

(A) Nothing, because the landing was caused by an emergency. 
(B) Nothing, unless he can prove that Stonewing was negligent. 
(C) Damages for trespass and for the loss of the tomato crop. 
(D) Damages only for the loss of the tomato crop. 

Question 1-16. 

While on a hiking trip during the late fall, Page arrived toward the end 
of the day at a clearing where several similar cabins were located, none of 
which was occupied. One of the cabins belonged to Levin, Page's friend, 
who had given Page permission to use it. Page entered one of the cabins 
believing it to be Levin's, and prepared to spend the night. In fact the cabin 
was owned, not by Levin, but by Dwyer. 

When the night turned cold, Page started a fire in the stove. Unknown 
to Page, there was a defect in the stove that allowed carbon monoxide fumes 
to escape into the cabin. During the night the fumes caused serious injury to 
Page. 

If Page asserts a claim against Dwyer for her InJUry, will Page 
recover? 
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(A) Yes, ifDwyer knew that the stove was defective. 

(B) Yes, if Dwyer could have discovered the defect in the 
stove by reasonable inspection. 

(C) No, because Dwyer had no reason to anticipate Page's 
presence in the cabin. 

(D) No, because Page was negligent. 

Question 1-17. 

Martha is the wife of the president of a small but very prestigious 
college located in Boston, Massachusetts, and is herself an instructor at the 
college. While doing research for an article profiling Martha's husband, a 
reporter for a Boston newspaper discovers and reveals in a published news 
story that Martha falsified her academic credentials when she applied for a 
position with the college, before she married the president. The story states 
that she had attended the state university of a Midwestern state, not the 
London School of Economics as her resume had claimed, and that her 
credentials were not properly verified because the president, a former U. S. 
Secretary of State, had been courting Martha at the time she applied for her 
position as instructor. 

As a result of the news story, Martha is widely ridiculed in the media 
and subject to numerous jokes and innuendo among her colleagues. She 
asserts a cause of action against the newspaper for defamation. The 
deposition of the reporter who wrote the story reveals that he obtained his 
information from a member of the State Department, and that Martha's 
attendance at the Midwestern state university was verified by telephone with 
its registrar. Will Martha prevail at trial? 

(A) Yes, if the story printed by the newspaper was false. 
(B) Yes, because the story revealed facts about her private affairs 

not generally known to the public. 
(C) No, because the newspaper did not publish the story with 

knowledge that it was false or with reckless disregard for its 
truth or falsity. 

(D) No, if the newspaper was not negligent. 
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Question 1-18. 

A man sued his neighbor for defamation based on the following facts: 

The neighbor told a friend that the man had set fire to a house in the 
neighborhood. The friend, who knew the man well, did not believe the 
neighbor's allegation, which was in fact false. The friend told the man about 
the neighbor's allegation. The man was very upset by the allegation, but 
neither the man nor the neighbor nor the friend communicated the allegation 
to anyone else. 

Should the man prevail in his lawsuit? 

(A) No, because the friend did not believe what the neighbor had 
said. 

(B) No, because the man cannot prove that he suffered pecuniary 
loss. 

(C) Yes, because the man was very upset at hearing what the 
neighbor had said. 

(D) Yes, because the neighbor communicated to the friend the false 
accusation that the man had committed a serious crime. 

Question 1-19. 

A 14-year-old teenager of low intelligence received her parents' 
permission to drive their car. She had had very little experience driving a 
car and did not have a driver's license. Although she did the best she could, 
she lost control of the car and hit a pedestrian. 

The pedestrian has brought a negligence action against the teenager. 

Is the pedestrian likely to prevail? 

(A) No, because only the teenager's parents are subject to liability. 
(B) No, because the teenager was acting reasonably for a 14-year­

old of low intelligence and little driving experience. 
(C) Yes, because the teenager was engaging in an adult activity. 
(D) Yes, because the teenager was not old enough to obtain a 

driver's license. 
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Question I-20. 

A company manufactured metal stamping presses that were usually 
sold with an installed safety device that made it impossible for a press to 
close on a worker's hands. The company strongly recommended that its 
presses be purchased with the safety device installed, but would sell a press 
without the safety device at a slightly reduced price. 

Rejecting the company's advice, a worker's employer purchased a 
stamping press without the safety device. The press closed on the worker's 
hand, crushing it. 

In an action brought by the worker against the company, will the 
worker prevail? 

(A) Yes, because the company's press was the cause in fact of the 
worker's injury. 

(B) Yes, because the company sold the press to the worker's 
employer without an installed safety device. 

(C) No, because the failure of the worker's employer to purchase 
the press with a safety device was a superseding intervening 
cause of the worker's injury. 

(D) No, because the company strongly recommended that the 
worker's employer purchase the press with the safety device. 

QUESTION TWO 
FIVE MULTIPLE CHOICE QUESTIONS 

WITH ANSWERS 
(suggested time: forty minutes) 

Together with the following five multiple choice questions you are 
given the correct or best answer. In your blue book, explain why this correct 
or best answer is the best answer to the question and why the other answers 
are wrong or else not so good as the answer that is identified as correct or 
best. Be sure to discuss all of the possible question answers ("A," "B," "C" 
and "D") in each of the following questions. 
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Question 11-1. 

Because of a farmer's default on his loan, the bank foreclosed on the 
farm and equipment that secured the loan. Among the items sold at the 
resulting auction was a new tractor recently delivered to the farmer by the 
retailer. Shortly after purchasing the tractor at the auction, the new owner 
was negligently operating the tractor on a hill when it rolled over due to a 
defect in the tractor's design. He was injured as a result. The new owner 
sued the auctioneer, alleging strict liability in tort. The jurisdiction has not 
adopted a comparative fault rule in strict liability cases. 

In this suit, the result should be for the 

(A) plaintiff, because the defendant sold a defective product that 
injured the plaintiff. 

(B) plaintiff, if the defendant failed to inspect the tractor for defects 
prior to sale. 

(C) defendant, because he should not be considered a "seller" for 
purposes of strict liability in tort. 

(D) defendant, because the accident was caused in part by the new 
owner's negligence. 

The correct answer is "C." In your blue book, explain why answer "C" is 
correct and why answers "A," "B" and "D" are not correct. 

Question 11-2. 

A patron ate a spicy dinner at a restaurant on Sunday night. He 
enjoyed the food and noticed nothing unusual about the dinner. 

Later that evening, the patron had an upset stomach. He slept well 
through the night, went to work the next day, and ate three meals. His 
stomach discomfort persisted, and by Tuesday morning he was too ill to go 
to work. 

Eventually, the patron consulted his doctor, who found that the patron 
was infected with a bacterium that can be contracted from contaminated 
food. Food can be contaminated when those who prepare it do not 
adequately wash their hands. 
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The patron sued the restaurant for damages. He introduced testimony 
from a health department official that various health code violations had 
been found at the restaurant both before and after the patron's dinner, but 
that none of the restaurant's employees had signs of bacterial infection when 
they were tested one month after the incident. 

The restaurant's best argument in response to the patron's suit would 
be that 

(A) No one else who ate at the restaurant on Sunday complained 
about stomach discomfort. 

(B) The restaurant instructs its employees to wash their hands 
carefully and is not responsible if any employee fails to follow 
these instructions. 

(C) The patron has failed to establish that the restaurant's food 
caused his illness. 

(D) The patron assumed the risk of an upset stomach by choosing to 
eat spicy food. 

The best answer is "C." In your blue book, explain why answer "C" 
is the best response and why answers "A," "B" and "D" are not the best 
response. 

Question 11-3. 

The owner of a car left her car at the neighborhood garage to have 
repair work done. After completing the repairs, the mechanic took the car 
out for a test drive and was involved in an accident that caused damages to a 
bystander. 

A statute imposes liability on the owner of an automobile for injuries 
to a third party that are caused by the negligence of any person driving the 
automobile with the owner's consent. The statute applies to situations of 
this kind, even if the owner did not specifically authorize the mechanic to 
test-drive the car. 

The bystander sued the car owner and the mechanic jointly for 
damages arising from the accident. In that action, the car owner cross­
claims to recover from mechanic the amount of any payment the car owner 
may be required to make to the bystander. The trier of fact has determined 
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that the accident was caused solely by negligent driving on the mechanic's 
part, and that the bystander's damages were $100,000. 

In this action, the proper outcome will be that 

(A) The bystander should have judgment for $50,000 each against 
the car owner and the mechanic; the car owner should recover 
nothing from the mechanic. 

(B) The bystander should have judgment for $100,000 against the 
mechanic only. 

(C) The bystander should have judgment for $100,000 against the 
car owner and the mechanic jointly, and the car owner should 
have judgment against the mechanic for 50 percent of any 
amount collected from the car owner by the bystander. 

(D) The bystander should have judgment for $100,000 against the 
car owner and the mechanic jointly, and the car owner should 
have judgment against the mechanic for any amount collected 
from the car owner by the bystander. 

The correct answer is "D." In your blue book, explain why answer 
"D" is correct and why answers "A," "B" and "C" are not correct. 

Question 11-4. 

As a salesman approached the grounds on which a house was situated, 
he saw a sign that said, "No salesmen. Trespassers will be prosecuted. 
Proceed at your own risk." Although the salesman had not been invited to 
enter, he ignored the sign and drove up the driveway toward the house. As 
he rounded a curve, a powerful explosive charged buried in the driveway 
exploded, and the salesman was injured. 

Can the salesman recover damages from homeowner for his injuries? 

(A) Yes, if the homeowner was responsible for the explosive charge 
under the driveway. 

(B) Yes, unless the homeowner, when he planted the charge, 
intended only to deter, not to harm, a possible intruder. 

(C) No, because the salesman ignored the sign, which warned him 
against proceeding further. 
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(D) No, if the homeowner reasonably feared that intruders would 
come and harm him or his family. 

The correct answer is "A." In your blue book, explain why answer 
"A" is correct and why answers "B," "C" and "D" are not correct. 

Question 11-5. 

A mother rushed her eight-year-old daughter to the emergency room 
at the local hospital after her daughter fell off her bicycle and hit her head on 
a sharp rock. The wound caused by the fall was extensive and bloody. 

The mother was permitted to remain in the treatment room and held 
her daughter's hand while the emergency room physician cleaned and 
sutured the wound. During the procedure, the mother said that she was 
feeling faint and stood up to leave the room. While leaving the room, the 
mother fainted and, in falling, struck her head on a metal fixture that 
protruded from the emergency room wall. She sustained a serious injury as 
a consequence. 

If the mother sues the hospital to recover damages for her injury, will 
she prevail? 

(A) Yes, because the mother was a public invitee of the hospital's. 
(B) Yes, unless the fixture was an obvious, commonly used, and 

essential part of the hospital's equipment. 
(C) No, unless the hospital's personnel failed to take reasonable 

steps to anticipate and prevent the mother's injury. 
(D) No, because the hospital's personnel owed the mother no 

affirmative duty of care. 

The correct answer is "C." In your blue book, explain why answer 
"C" is correct and why answers "A," "B" and "D" are not correct. 

QUESTION THREE 
CASE BRIEF 

(suggested time: fifteen minutes) 

Printed on the next page is a well-known Massachusetts case found in 
another Torts casebook. In your blue book, write a case brief for this case. 
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".;:' 

Sniith v. ·Rapid Transit Inc. 
317 Mass. 469, 58 N.E.2d 754(I945Y; 

·.: ::.$PALDING, J. The d~~i~iYJe.questio~ i~ this case is whether. there i,as evidep.~e for thejucy 
that the plaintiff was injured by a'bus of the .. defendant that was operated by one of its 
employees in the course of his employment. If there was, the defendant concedes that the 
evidence warranted the submission to the jury of the question of the operator's negligence 
in the management of the bus. The case is here on the plaintiffs exc~ption to the direction 
of a verdict for the defendant. 

These facts could have been found: While the plaintiff at about 1:00 A.M., on February 6, 
1941, was driving an automobile on Main Street, Winthr~p, in an easterly direction toward 
Winthrop Highlands, she observed a bus coming toward her which she descr~bed as a 
"great big, long, wide affair." The bus, whiph was proceeding at about forty miles an 
hp1;1r, "forced her to turn to the right," and her automobile collided with a "parked car." 
'tiie'plaintlff was coming from Dorchester. The department of public utilities had issued a 
~eitificate of public convenience or !lecessity to the defendant for three routes in Winthrop, 
on~ of which .included.Main Street, and this was in effect in February, 1941. "There was 
another bus Une in operation in Winthrop ·-at that time but not on M~ Street." According 
to the defendant's time-table, buses were scheduled to leave Winthrop Highlands for 
Maverick Square via Main Street at 12:10 A.M., 1i:45 A.M., 1:15 A.M., .and 2:15A.M.' The 
~ng time for.this trip at that tirrie of night was thirty, minutes. 
~.·.'.The cJiteciipn of a verdict for the defendant was right. The ownership of tl;J.e bus \:VaS a 
matter orconjecture. While the defendant had the sole franchise for operating a bus line, on 
Main S{feet, Winthrop, this did not preclude priyate or chartered buses from using this 
itr~et; .the."b~s }n qu~stion couid veri well have been one op~rated by someone other than 
fll~ def~n.d.~nt~ It was said.in Sargent v. M~ss8:chuse~ts Accide~t Co., 307 Mass. 246, at page ., .. . . . .. .. . . .r. . . 
450, that it is "nqt enough that mathematically the chaJ+ces somewha(favora proposition to 
~~,·p:J;"ove~;. foi.exa,ip.ple, the fact .that' colored automobiles made in tliecurrent year out­
numb.er black. ones would ~ot warrant a finding that an undescribed automobile of th.e vn:· ·:. -.. · · )·. · . . · .. 
~~ent year is coloreq.and not black, nor would the fact th8:t o.nlY a miJ.?.orjty of men 4ie of 
~,an~er warrant.a'finding that a particular man did not die of cancer." The rn:mit that:c.an be 
s~d of ti1e ~viden~e in the instant case is' that perhaps th~ mathemati~al chances some~ hat 
ftf~Or ~hy. proposition ·th~t a bus of t~e defendant caused. th~ accident. This was not e:q.9~gh. 
A· '.'proposition is proved by a prepondera.n~.e of th~ evidence if it ·is made to a,ppear more 
U}cely,'or proba.ble in the sense_that actu~i .belief in' its tpith, ·derived from the e.vid~nce, 
exists in the :rnlnd or ininds or' the tribunai notwithstanding any doubts that m,ay stili' linger 
tQ.ere." Sargen! '{. Iv{assacl:msetts Accident. Co., 307 Mass. 246,. at page 250 ... .-: .. : 
; E~~~ptiqns .ox~rru,ed. · · · · ' · · · 

. ~ •, 
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QUESTION FOUR 
ESSAY QUESTION No. 1 

(suggested time: thirty minutes) 

Assistant District Attorney Terry Stopps visited the law office of 

PhilanderS. Podsnap on January 10, 2015 to discuss a case. While Stopps 

and Podsnap were in the midst of discussions a paralegal in Podsnap's law 

firm, Tim Woodenstone, attempted to enter Podsnap' s office without 

knocking or announcing his entry. Terry pushed the door closed, thereby 

pushing Tim back into the hallway. Moments later, Tim re-entered the 

office. Terry rebuked Tim for his rude conduct. Seeing that Podsnap was 

not going to do anything about it, Terry left Podsnap's office. 

Tim sued Terry for battery, false imprisonment, and intentional 

infliction of emotional distress. After answering the complaint, Terry 

moved for summary judgment. 1 Terry's motion asserts that "As a matter of 

law, no battery, no false imprisonment, and no intentional infliction of 

emotional distress occurred on January 10, 2015." Terry supported her 

motion with an affidavit which stated in part as follows: 

Attorney Podsnap and I had settled into a serious discussion 
about the case and had established a good rapport when the door to his 
office suddenly swung open without a knock. An unidentified 
individual carrying some papers then strode in unannounced. I had 
not been told that anyone would be entering attorney Podsnap' s office 
during the private meeting. I subsequently learned that this individual 
was Mr. Woodenstone. 

Tim Woodenstone responded to Terry's affidavit with a counter­

affidavit stating in part: 

1 A motion for summary judgment is a pre-trial motion. In tort cases it is almost always a defendant's 
weapon. A defendant's motion for summary judgment asserts that, on the record as it stands, plaintiff will 
not be able to produce evidence sufficient to carry the burden of production on one or more elements of 
plaintiffs case. In other words, if the case were to go to trial on the present record, plaintiff would suffer a 
directed verdict at the close of plaintiffs case. 
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Why? 

I am a born-again Christian and cultivate holiness in my life. 
As a result I am very sensitive to evil spirits and am greatly disturbed 
by the demonic. However, in Christ there is victory. 

On January 10, 2015, Assistant District Attorney Terry Stopps 
visited the ministry where I was working at the office of attorney P. S. 
Podsnap. 

That morning I entered the office of Mr. Podsnap to give him 
certain papers that had been requested. Mr. Podsnap was speaking 
with ADA Stopps at that time. As I began to enter, ADA Stopps 
threw her body weight against the door and forced me out into the 
hall. I had not said a word to her. At the same time she snarled at me, 
"You get out ofhere." This was very shocking and frightening to me. 
In all the time I have been working for Mr. Podsnap I have never been 
physically assaulted or spoken to in a harsh or brutal manner. My 
blood pressure began to rise, my heartbeat accelerated, and I felt 
waves of fear in the pit of my stomach. My hands began to shake and 
my body to tremble. I reentered the office, whereupon ADA Stopps 
began a half-demented tirade against me and stormed out into the hall. 
I looked at Mr. Podsnap in wonder. 

How should the judge decide Terry's motion for summary judgement? 

ESSAY QUESTION No. 2 
(suggested time: thirty minutes) 

You are a lawyer in a law firm that is representing a new client, 

Niagara Pump Co. ("Niagara") in a tort case. These are the facts in the 

record to date. 

On the night of September 4, 2014, a fire occurred in a chemical 

factory. A pump manufactured by Niagara caught fire and ignited the 

surrounding area. This particular pump had caught on fire twice before. 
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Lisa Tanktops ("Lisa"), a trainee employee at the factory, had just 

finished her shift and was about to leave the plant when the fire erupted. 

She and her supervisor, Russian T. Ball ("Ball"), were directed to assist in 

fighting the fire, and did so. 

Approximately two hours later the fire was extinguished. However, 

there appeared to be a problem with a nearby nitrogen purge valve. Ball was 

instructed to isolate and close the valve. There is some evidence that this 

was considered an emergency situation at the time. Lisa asked if she could 

accompany Ball and was allowed to do so. To get to the nitrogen purge 

valve, Lisa followed Ball over an above-ground pipe rack which was 

approximately two and one-half feet high, rather than going around it. This 

was not the safer route, but was the shorter one. 

Upon reaching the valve, Ball and Lisa were notified that it was not, 

after all, necessary to isolate and close it. Instead of returning by the route 

around the pipe rack, Ball chose to walk across it. Lisa followed. She 

slipped off the pipe rack and broke both legs. There is evidence that the pipe 

rack was wet because of the fire and that Ball and Lisa were still wearing 

firefighters' hip boots and other fire fighting gear when the injury occurred. 

Lisa has sued several defendants including Niagara. Her claim 

against Niagara alleges that Niagara negligently designed and manufactured 

the pump and that the pump was the proximate cause of her injuries. But for 

the pump fire, she asserts, she would never have walked over the pipe rack 

which was wet with water or firefighting foam. 

Your law school classmate, Anne Bonney, is Niagara's in-house 

general counsel. She was responsible for retaining you to represent Niagara 

in this case. She has asked you about the possibility of winning the case on 

a motion for summary judgment. 
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Summary judgment will deliver an inexpensive and decisive victory 

to Niagara. You would, of course, like to deliver this victory. On the other 

hand, as a matter of good client relations, you worry about making a motion 

for summary judgment if it will be denied because in that event Niagara 

might lose confidence in you. 

Evaluate the likelihood of success for Niagara if you were to file a 

motion for summary judgment. Evaluate the risks and benefits if you file 

the motion and it is denied by the Court. 

END OF EXAMINATION 

REMEMBER, ALL BLUE BOOKS MUST BE TURNED IN. 
THIS INCLUDES BLUE BOOKS THAT ARE ENTIRELY 
UNUSED, AND ALSO BLUE BOOKS USED AS SCRAP. 

LABEL ANY SCRAP BLUE BOOK WITH THE WORD, "SCRAP." 

REMEMBER, THIS WHITE EXAM PAPER MUST BE TURNED IN 
ALONG WITH YOUR BLUE BOOK OR BLUE BOOKS. 

TortsFINALspring20 15/Martin 
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